run_13063036 _FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Sat Mar 3 09:55:09 2012
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run_13063036 _FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
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run_13063036 _FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
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run_13063036 _FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
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run_13063036 _FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB

Sat Mar 3 09:55:18 2012
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run_13063036_FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Sat Mar 3 09:57:22 2012
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run_13063036 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
Sat Mar 3 09:57:57 2012
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run_13063036 _FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB

Sat Mar 3 09:55:22 2012
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run_13063036_FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Sat Mar 3 09:57:24 2012
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run_13063036 _FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
Sat Mar 3 09:57:58 2012
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run_13063036 _FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
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run_13063036 _FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
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run_13063036 _FGT_RMS 1,Timebin=2,Disc=2,asmb=2DA
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Sat Mar 3 09:55:30 2012

[ADC for FGT RDO=1,ARM=1,APV=5 } [ ADC for FGT RDO=1,ARM=1,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=6 } [ ADC for FGT RDO=1,ARM=1,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=1APV=7 } [ ADC for FGT RDO=1,ARM=1,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=8 } [ ADC for FGT RDO=1,ARM=1,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=1,APV=9 } [ ADC for FGT RDO=1,ARM=1,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




2DA

2,asmb

ISC=

=2,Di

In=

26 2012

b

57

ime

Sat_Mar _3 09

51

1,APV=!

run_13063036_FGT_MPV_1,T

APV channel
APV channel
APV channel
APV channel

120
120
120
120
120

=6 .
=7}
8 ]
|

1,APV
1,APV
1,APV:
1,APV

1,ARM
LARM:
1,ARM
LARM

1
il

[CADC MPV for RDO

(pad-0av) AdW (pad-0av) AdiW (pad-Dav) Adi (pad-0av) AdW (pad-0av) AdiW

[ADC MPV for RDO
[ADC MPV for RDO:
[ADC MPV for RDO
[ ADC WPV for RDO

APV channel



run_13063036 _FGT_RMS 1,Timebin=2,Disc=2,asmb=2DA
Sat Mar 3 09:58:00 2012

[CADC RMS for RDO=1ARM=L1,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=1,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13063036 _FGT_ ADC_1,Timebin=2,Disc=2,asmb=2AB

Sat Mar 3 09:55:32 2012

[ ADC for FGT RDO=1,ARM=1,APV=12 |

[ 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=1APV=13 _§

0 1000 2000 3000 4000

raw ADC

[[_Apc for FoT RDO=1.ARM=1.APV=14__ ]
—

3000 4000
raw ADC

0 1000 2000

[ ADC for FGT RDO=1,ARM=1,APV=15

3000 4000
raw ADC

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=LARM=LAPV=12_}

= 4000 p—
] =
& =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
=
500 p=—
=
=
b==
=
0
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=13 "}
= 4000
2 0 0 0 0 0
g 8
8 3500 cos¢essesc0000gs00s09500550000955hs09c005505bossaqsgococssaos0os00s00gp0500505bo0550000F500509500550000554(050950
<

3000

2500

2000

1500

1000

500

0

°1HI‘I1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=14 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =

3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
==
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=1,APV=16 l
.- 4000 p—
5] = . . . . . .
o =
9 3500 f=— - |
< =
3000 f=—— - |
2500 f=— - -
=
2000 f=—— - -
=
1500 = - -|
=
1000 p=— - -
=
500 f— - -
=
=
E_. . . i . . . i . . . i . . . i . . . i . . . i .
0 20 40 60 80 100 120
APV channel

... 3 .0 . R L

10

10°

107

10

10




run_13063036_FGT_ MPV_1,Timebin=2,Disc=2,asmb=2AB
Sat Mar 3 09:57:26 2012

[ADC MPV for RDO=1ARM=LAPV=12_}

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
Q 20 a0 0 a0 100 120
APV channel




run_13063036 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Sat Mar 3 09:58:00 2012

[ADC RMS for RDO=1,ARM=LAPV=12__}

RMS (ADC-ped)

90 E

80

70

60

50

40

30

20

10

b=
b—

i
120
APV channel

0

=
=
0

[ ADC RMS for RDO=1,ARM=1,APV=13 "}

RMS (ADC-ped)

100 |
[
80 [+
60 [F
40 [r

20 |-

" " " " " " " " " i " " " i " " " i " " " 1
9 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=14 "}

RMS (ADC-ped)

100
80
60
40

20 [

il
1. i i i i
0 20 40 60 80 100 120

APV channel

[ADC RMS for RDO=1,ARM=LAPV=15__}

RMS (ADC-ped)

100

i
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=16 }

RMS (ADC-ped)

i . . . i
100 120
APV channel




run_13063036 _FGT_ ADC_1,Timebin=2,Disc=2,asmb=2AB

Sat Mar 3 09:55:36 2012

[ ADC for FGT RDO=1,ARM=1,APV=17 |

[ 1000 2000 3000 4000

raw ADC

[[_ADC for FGT RDO=1.ARM=1.APV=18 |

0 1000 2000 3000 4000

raw ADC

[L_AoC for FoT RDO=1.ARM=1.APV=10 _§
—

3000 0
raw ADC

1000 2000

[ ADC for FGT RDO=1,ARM=1,APV=20

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=1APV=21 _§

3000 40(
raw ADC

[[ADC for FGT RDO=LARM=LAPV=17_J
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

Py
lw)
O
|
p=
X
<
|

[ ADC for FGT

p=
T
<]
11
=)
|
b

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

" 1
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=19 }

= 4000 p—=
] = . . . . . .
2 = 2 2 2 2 2 2
Q 3500 f=—- e e - -
% =
3000 f=—|- - - - - - - .
=
2500 f=—1- - - - - - - -
=
2000 = B
=
1500 =+ - - - - - - -
1000 p=—|- - --- - - -
=
500 f=— e - - - e e o
=
=
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=20 }
= 4000 p—
5] = 5
o = 2
Q 3500 FE—1- {1 aoafbacadbdfoses .
< =
3000 f/—|-{-{-- - PR R B . dboooo
2500 fp=—y-{-{- -1 - PR R 1 P dooas
2000 p/—|-{-1- -+ - R A Y P B
=
1500 f—|-{-1- -t - soobacadbdoace .
1000 P=—|- - {- -t -r-- - dqe b g e
= 2
= 2
500 =~ - 4= - or e ols e p e e s
= 8
[l Sl B S RS B [ S e
= 8
= i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

... 1 .1 m...J .8 A

10

10

10

10

10




run_13063036_FGT_ MPV_1,Timebin=2,Disc=2,asmb=2AB
Sat Mar 3 09:57:27 2012

[ADC MPV for RDO=1ARM=LAPV=17 J

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=18 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=21 "}

MPV (ADC-ped)

L—
1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13063036 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Sat Mar 3 09:58:02 2012

[ADC RMS for RDO=1,ARM=LAPV=17 _}

RMS (ADC-ped)

50

ﬂﬂl,””]'nq i

40 H
H
30 H
20 H -
H 5
10 B :
o H i i i i i i
0 20 20 60 80 100 120

[ ADC RMS for RDO=1,ARM=1,APV=18 "}

RMS (ADC-ped)

100

TETT

80

T 11
1T

60

“F
I

40

20

°-1-r1-|-|-|-|-|-r1

[ ADC RMS for RDO=1,ARM=1,APV=19 }

RMS (ADC-ped)

100 f—— e T L EPREPETE LY & RETEPEPEE R RCTEPEPEE P R PETEPREPE R RCTEPEPEE RETEPRE

80 [+

M
60 |+
wl : T : : S L8 3 R SE—— -

2 1 : poeme - LR Eodimde bealtldli=td o b | EERERARRREEE Pacdace

APV channel

RMS (ADC-ped)

0 =
80
70 BE—

60 P/

50

40

30

20

10

OT”I AR R IHI:lI”

i
® 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=21 "}

RMS (ADC-ped)

100

80

APV channel




run_13063036 _FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA
Sat Mar 3 09:55:40 2012

[ADC for FGT RDO=1,ARM=2,APV=0 }

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=1 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=LARM=2,APV=2 }

ADC-ped

3000 4000
raw ADC

[>]
<]
&

or FGT RDO=1,ARM=2,APV=3 l

C-ped

=AD!
5}

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=4 }

-ped

Al

10*

1000

2000 3000 40(

raw ADC

[ ADC for FGT RDO=1,ARM=2,APV=0

10°

o 4000 p—
2 =
o =
] 3500 |- << {-t-f---- 4 s
< =
3000 = - 1-1-f---- 1 5
=
2500 =t - 4t f oo b
=
2000 f=—|- - -1 -} ---- 4 b
=
1500 =t - 44 -} - - - b
1000 =] -4t -f--- - ada
= .
= .
500 =] - 4=t -}F---- - s
= .
= -
()= o SRR R B e
S i
o 20

[ ADC for FGT RDO=1,ARM=2,APV=1

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

10

rm
m
rm:
rm:
L
b=
=
L
b=
=
L
b=
=
L
I
0

[ ADC for FGT RDO=1,ARM=2,APV=2

1
120
APV channel

- 4000 py
] = . . .
g = 2 2 2
Q 3500 f—+ - {-{-}-F-f -4k -t-
< =
3000 [l - {-{-}-F-f -2k -t-
H
2500 pE—-A-{-1-}-F-F 424 F---- - t-
=
2000 “{-t-r- 2o SLELEIE
=
1500 B 4-1-1-f-r- - 1 S LELELE ==
1000 B - 1-1-f-r-F -4k ==
L
V)= O B X Y S O AR | PR PP adha
=
o - - - - R
s i i i i 10°
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=2,APV=3 }
- 4000 p—
g = o
Q 3500 F= -
< =
3000 = |- 1~
2500 = - 1-
= 10
2000 ="~ 1~
=
1500 = -
1000 P=— - 4 -
=
= 1
500 == -|- -
=
o1+
=
=
0

[ ADC for FGT RDO=1,ARM=2,APV=4

80

120
APV channel

10

- 4000 p
o =
9 3500 |- - - - - - - g e B
< =
3000 |- - - - - - o e B
2500 - - - - - - gbacacdla
rm
2000 |- - - - - - l TR B
=
1500 pH—|- - - - - - - H EEEEE B
H
1000 pF—f- - - - - - g e B
=
500 pF—|- - - - - - - o R B
i
o R o A
Bl . .
0 2

APV channel




run_13063036 _FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Sat Mar 3 09:57:28 2012

[ADC MPV for RDO=1ARM=2,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

APV channel




run_13063036 _FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Sat Mar 3 09:58:03 2012

[CADC RMS for RDO=1,ARM=2,APV=0__J

120 |-

100 [+

RMS (ADC-ped)

—
80

60 -

40 |

20 |

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=1 "}
90

80

70

RMS (ADC-ped)

60 /——
so
40
30
20

10

0
0
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=2 "}

90

80

RMS (ADC-ped)

70
o0 E
50
40 =

30

20

10 F

N N N i
o 20
APV channel

100 f=rrrr e e T e e T rrer e e s R L e L R L e T

i
120
APV channel

RMS (ADC-ped)

i
120
APV channel




run_13063036 _FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA
Sat Mar 3 09:55:44 2012

[ADC for FGT RDO=1,ARM=2,APV=5 } [ ADC for FGT RDO=1,ARM=2,APV=5 |
4000

-ped

3500 10

=)
ADC-ped

Al

3000
2500
10?
2000

1500

1000

500

0

© R R R A

[ 1000 2000 3000 4000
raw ADC APV channel

[ADC for FGT RDO=1,ARM=2,APV=6 } [ ADC for FGT RDO=1,ARM=2,APV=6 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

" 1
0 1000 2000 3000 4000 20 40 60 80 100 120
raw ADC APV channel

[ADC for FGT RDO=1LARM=2,APV=7 } [ ADC for FGT RDO=1,ARM=2,APV=7 }
|

4000

10
3500

ADC-ped

3000

2500

2000

1500

1000

500

0

2000 3000 0 20 40 60 80 100 120
raw ADC APV channel

[ADC for FGT RDO=1,ARM=2,APV=8 } [ ADC for FGT
4000

Py
]

O=1,ARM=2,APV=8_}

3500

ADC-ped

3000

1 H|'I1II'|HI'I

2500

2000

1500

1000

500

0

10

° nrl]lrn|r|1|[|1|r|1|r|]n|1

0 1000 2000 3000 4000 20 40 60 80 100 120
raw ADC APV channel

[ADC for FGT RDO=1,ARM=2,APV=9 } [ ADC for FGT RDO=1,ARM=2,APV=9 "}
4000

3500

ADC-ped

3000

2500
2000
1500
1000

500

0

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|rn I|‘I1II‘|1 T

10

2000 3000 40(
raw ADC APV channel




run_13063036 _FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Sat Mar 3 09:57:30 2012

[ADC MPV for RDO=1ARM=2,APV=5__}

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13063036 FGT_RMS 1, Timebin=

2,Disc=3,asmb=3DA

Sat Mar 3 09:58:04 2012

[CADC RMS for RDO=1,ARM=2,APV=5__}

= L—
3 E
2 100 p——
Q h—
a :
g —
o [
3 80 p——
T M
60—
40 p—
—
L
L
20 p—o
0 [
0

[ ADC RMS for RDO=1,ARM=2,APV=6 }

90

80

70

RMS (ADC-ped)

60
50
40
30

20

10

0

[ ADC RMS for RDO=1,ARM=2,APV=7 }

1
120
APV channel

90
80

70

RMS (ADC-ped)

60

50

40 [£

30

20 |

10

i
120

0

[CADC RMS for RDO=1,ARM=2,APV=8__}

APV channel

80

70

RMS (ADC-ped)

60

50 f——

40

'I1|H'I1 il nr|-|1|rr|

30

20

10 &

0

[ ADC RMS for RDO=1,ARM=2,APV=9 "}

i
120
APV channel

1
100

RMS (ADC-ped)

100 [+
80 [+

60 fr

20 =

40 -

i
120
APV channel

. . . i
80 100



run_13063036 _FGT_ ADC_1,Timebin=2,Disc=3,asmb=3AB
Sat Mar 3 09:55:48 2012

[ ADC for FGT RDO=1,ARM=2,APV=12 | [ ADC for FGT RDO=1,ARM=2,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=13 | [ ADC for FGT RDO=1,ARM=2,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1ARM=2,APV=14 | [ ADC for FGT RDO=1,ARM=2,APV=14 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=15 | [ ADC for FGT RDO=1,ARM=2,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=LARM=2,APV=16 | [ ADC for FGT RDO=1,ARM=2,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13063036_FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB

Sat Mar 3 09:57:31 2012

[ADC MPV for RDO=1ARM=2,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=2,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=2,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=2,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13063036 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Sat Mar 3 09:58:05 2012

[ADC RMS for RDO=1,ARM=2,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=2,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




run_13063036 _FGT_ ADC_1,Timebin=2,Disc=3,asmb=3AB
Sat Mar 3 09:55:49 2012

[ ADC for FGT RDO=1,ARM=2,APV=17 |

[ 1000 2000 3000 4000
raw ADC

[[_ADC for FGT RDO=1.ARM=2.APV=18 |

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=LARM=2,APV=19
—

3000 4000
raw ADC

0 1000 2000

ADC for FGT RDO=1,ARM=2,APV=20

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1,ARM=2,APV=21 _§

3

ADOper}a

0 1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=2,APV=17_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=1,ARM=2,APV=18 }

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=2,APV=19 }
4000

" 1
60 80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

L LN LA A L LA A L il

[[ADC for FGT RDO=1,ARM=2,APV=20 }
4000

60 80 100 120
APV channel

il

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© FTFTFATFAT TR AT TR T

[ ADC for FGT RDO=1,ARM=2,APV=21 }

40

60 80 100 120
APV channel

4000

3500

ADC-ped

3000

2500

2000

1000

500

0

rm
ke
=
ke
=
=
1500 [
=
rm:
=
=
rm
=
=
0

APV channel

A . L LR B

10

10

10

10°

10°




run_13063036_FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB
Sat Mar 3 09:57:31 2012

[ADC MPV for RDO=1ARM=2,APV=17

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=18 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=21 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

APV channel




run_13063036 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Sat Mar 3 09:58:05 2012

[ADC RMS for RDO=1,ARM=2,APV=17 _}

120 [

100

RMS (ADC-ped)
E

80 I+

60

TFA

40

20

Bl=XECOXK]

[ ADC RMS for RDO=1,ARM=2,APV=18 '}

100 | 8 2 [ DR Foocococososcscsososoad fcococococoocooooooooad Foococos

RMS (ADC-ped)

1
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=19 |

RMS (ADC-ped)

i
120
APV channel

100 f——

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=2,APV=21 "}

[—
120

100

RMS (ADC-ped)
[T

80

60

A [TTHTIIT

40 [«

20

i
120
APV channel

S=xE0




run_13063036 _FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Sat Mar 3 09:55:53 2012

[ADC for FGT RDO=1,ARM=3,APV=0 } [ ADC for FGT RDO=1,ARM=3,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=3,APV=1 } [ ADC for FGT RDO=1,ARM=3,APV=1 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=LARM=3,APV=2 } [ ADC for FGT RDO=1,ARM=3,APV=2 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=3,APV=3 } [ ADC for FGT RDO=1,ARM=3,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=3 APV=4 } [ ADC for FGT RDO=1,ARM=3,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




4DA

4 asmb

ISC

=2,Di

In=

32 2012

b

57

ime

Sat_Mar _3 09

0 1]

run_13063036_FGT_MPV_1,T

1,ARM=:

[CADC MPV for RDO

APV channel
APV channel
APV channel
APV channel

120
120
120
120
120

=1 }
= |
=3 |}
= |

3,APV:
3,APV:
3,APV:
3,APV:

1,ARM
LARM:
1,ARM
LARM

1
il

(pad-0av) AdW (pad-0av) AdiW (pad-Dav) Adi (pad-0av) AdW (pad-0av) AdiW

[ADC MPV for RDO
[ADC MPV for RDO:
[ADC MPV for RDO
[ ADC WPV for RDO

APV channel
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run_13063036 _FGT_RMS 1,Timebin=2,Disc=5,asmb=5DA
Sat Mar 3 09:58:09 2012
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run_13063036 _FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Sat Mar 3 09:56:09 2012
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run_13063036 _FGT_RMS 1,Timebin=2,Disc=5,asmb=5DA
Sat Mar 3 09:58:10 2012
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run_13063036 _FGT_ ADC_1,Timebin=2,Disc=5,asmb=5AB
Sat Mar 3 09:56:10 2012
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run_13063036_FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
Sat Mar 3 09:57:36 2012

[ADC MPV for RDO=1ARM=4,APV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
Q 20 a0 0 a0 100 120
APV channel




run_13063036 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Sat Mar 3 09:58:10 2012
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run_13063036 _FGT_ ADC_1,Timebin=2,Disc=5,asmb=5AB
Sat Mar 3 09:56:14 2012
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run_13063036_FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
Sat Mar 3 09:57:37 2012
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run_13063036 _FGT_RMS 1,Timebin=2,Disc=5,asmb=5AB
Sat Mar 3 09:58:11 2012
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run_13063036_FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC
Sat Mar 3 09:56:18 2012
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run_13063036 _FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Sat Mar 3 09:57:38 2012
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run_13063036 _FGT RMS 1,Timebin=2,Disc=1,asmb=1BC
Sat Mar 3 09:58:12 2012
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run_13063036_FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC

Sat Mar 3 09:56:22 2012
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run_13063036 _FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Sat Mar 3 09:57:39 2012
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run_13063036 _FGT RMS 1,Timebin=2,Disc=1,asmb=1BC
Sat Mar 3 09:58:13 2012
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